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Part A

1. Answer all questions from this part. Each bunch of four questions carries a weight of 1. Choose
the correct answer from the following :(— ' _

1 What was the problem with the Princely states 7?7
(a) Together they represented one third of the territory of India.

(b) They became independent with the treaties and engagements the British had with
them lapsing.

(¢) They bad different traditions of rule.
(d) They had to be handsomely paid for according to the Union.
2 Why is a federal system of government suitable for a pluraliétic society 7
. (a) It ensures the participation of each group in the political process.
() It gives scope for the domination of one group over the others.
(c) The diverse -groups in the society will have absolute freedom.
(d) The states have the freedom to secede from the Union.

3 Gandhiji said that if he was given a choice between cowardice and violence, he would opt for
violence. This statemeént implies that :

(a) Fear makes man small and makes him incapable of defending freedom.
(b) He was prepared to use physical force if that would serve his purpose.
(¢) Gandhiji was defending himself iagﬁinst the change of cowardice.
(d) None of these. ‘
4 What should the British government learn from history according to Gandhiji ?
(a) The rebellion of the people for legitimate demand is short-lived.
(b) The government cannot oppose the rebellion of the people for legitimate demands.
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Why is the poet angry with the champak-trees 7
(8) because they burst into flowers.
(b) because they caused migrane.

(c) because they filled the surroundings with fragrance.

(d) because they attracted snakes into the house.
What does the snake in “The first Meeting” want ?

(8) to be fed properly.

(b) to be worshipped as a God.

(¢} tobe treated as a pet in the house.

(d) to be treated as a friend.
What is Chandi Prasad Bhatt against ?

(a) he is against the use of scientific knowledge.

(b} he is against the construction of large dams.

(c) he is against the development.

(d) he is against the politicians espousing the cause of environment.
How did-old Kos Koosh view nature ?

(a) nature was kind to the individual.

(b) nature didn’t care for the individual.

(¢) nature didn’t mind ifa whole species was wiped out.

(d) nature didn’t bother about life at all.
The comparison of the skin of the fish with ancient wall papers shows that :

(a) it is an old fish.

(b) it retains, evenin this battered state, something of its original beauty as ancient wall
papers do.

(c) the fishis repulsive.

(d) the skin of the fish is not hard enough.
What does Seattle mean when he says that the earth does not belong to man ; man belongs to
the earth ?

(a) he means that man has control over the earth.

(b) he means that the earth is his property and he can do whatever he likes with it.
(c) he means that man should respect the earth and all the things that live on it.
(d) he means that the earth has been created to make man happy.
(16 x % = 4 weightage)
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